Bacauge of the ashundamee of wheal
COMpanies ond stylea, it is impoasible for
Bder Rdacimg 1o gudramtes {it of their brake
gystemns into a seecific wheel style ond/or
Mo ghacenl 0 0id N determining for
/omf your wheels ore likely to fit
nround a spedific Baer Racing hroke
——— upgrade, we supply this hroke systern
— templote To use this temglote to delermine
— fit. follow these simple mstruclions,

Warning!

Althaudh thesa temmlotes are mrovided to

scole, fax ond copy mochines are notoriaus
6.38 for reducing or erldrging images slightly.
you received this template by ony method
other than getling dn orgingd threugh the
mail, you must measure botky the harizantal
ond verlical acales 1o determine the
deourdey of the templdte

Instructions

+ After measuring to ensure the termplote is
st te scale, glue the {emplate to o pleces
of cardboard or heavy eonstruction paper

¥+ Medsure the didmeter of the cemter Fub
opening of your wheel to determine which
sets of lines are gocurate for your car,

rotor

x Accurately cut the templote dlong the
doshied linas, using tme eenter hut lines thot
mosi closely corrgspond to your wheel's
certer hub opening.
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caliper

= Ploce the lernplote nside your wheel with
cul edge flot againsl the maunting surface
of ihe wheel and with the center Puk gsction ]

of the templdte cemtered in the hub openimg
of 1he wheel

+ Thave muct ba at least O 140 1IN clearanee
belween the coliper ond the wheel ot every — =
poimt If thers 1o adﬁqumtg rodiel elearance,
but not endugh focial clearonce, ydu maoy
pledze swrmething between the whesl mounting
J(]Dd ond the templote to mimic o spacer. IT
his is reguiress nele the widih of the spager__|
and bhe sure toy evder the proper spacars ot
the same time you order your broke system.

x This templote should be used as a

2.12 guickline, Wheels that show minimum
N clegrance should be verified with actual -
brake cormponenta whenever poasible.
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